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Part - 11T
COMPUTER APPLICATION (HUMANITIES)
Maximum : 60 Scores '
Time =2 Hours
Cool off time : 15 Minutes

/ General Instructions to Candidates :
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There is a 'Cool off time' of 15 minutes in addition to the wrltmg time of
2 hrs.

You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'. ,

Use the ‘cool off time* to get familiar with questions and to plan your answers. |
Read the questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from
the same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also prowded
Give equations wherever necessary.

Electronic devices except nonprogrammable calculatore are not allowed in
the Examination Hall. -
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Raw facts and figures are known
AS 1rerereeenee 1)

a) 1024
b) 1000
c) 1014

d) 1054 (1

function is used to

.............

calculate the total of a set of

cells.

a) ROUNDUP ()
b) ROUND ()
c) SUM ()

d) COUNTIF () (1)

Which one of the following is

NOT a search engine?

a) Google

"b) Bing

¢) Facebook

d) Ask (D

.. 'In ICT enabled services KPO

stands for ......c.....

(D)

K:925
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1 KB = ... Bytes

a) 1024

b) 1000

¢) 1014

d) 1054
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a) ROUNDUP ()

b) ROUND ()

¢) SUM ()

d) COUNTIF ()
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6. The. protocol for Internet

communication is .........
| a) TCP/IP .

b) HTTP

c) FTP

d) UDP

7. The transmission media which -

carry information in the form of

light signals is called ...........
a) coaxial

b)',twisted

¢) Wi-Fi

d) optical fibres

8. Different
different

networks  with

connected by a device called ...,. :

a) Router
b) Bridge
¢) Switch

d) Gateway
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a) TCP/IP

b) HTTP

c) FTP

d) UDP )
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a) coaxial

b) twisted

c) Wi-Fi

d) optical fibres ¢y
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a). Router
b) Bridge
¢) Switch

d) Gateway A1)
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10.

11.

12,

13.

'IDE stands for .............,

a) Integrated Devéiopment
Environment

b) Information Development
Environment

c) Inheritance”Development

Environment

d) Interactive Development

. Environment

. The cell address of the very first

cell in a worksheet is ..oooooveeiee

Which one of the following
controls the basic formatting of

all the slides in a presentation?
a). Gradient

bj Hatching Pattern

¢) Slide Master

d) Bitmap fill

Rahui wants to combine the
cells from B5 to B10. How can
he do 1t?

"Computers are slaves, humans

are masters”. Do you agree with

this? Give reasons by comparing

its advantages and limitations.
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11,

12,

13.

IDE tuallailwome eaigpmma ... §

a) Integrated Develépment

Environment

b) 'Informgtion Development
Environment

¢) Inheritance Development
" Environment - -

d) Interactive Development

Environment
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a) Gradient .

b) Hatching Pattern

¢) Slide Master

d) Bitmap fill
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14. Arrange the following in proper
order.
Process, Qutput, Storage,
Distribution, Data Capture,

14. @oew . emioleaymaan
(OO ORI, '
Process, Output, Sﬁorage,
Distribution, Data Capture,
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Input. (2) Inpqt. (2)
OR RO LI
Briefly explain the significance BHAURGOIB ] @0 S OHBOG
of UNICODE in character (ulmlwome a'mgy'mmﬂ(o%
representation. (2) UNICODE  @gios  (aiowomyo
amae] aloidla)ws. (2)
15. Classify or match the following 15. moey alo@ym EMOASEOMLQOW6S
softwares. 3) @oimponls] CaIBOEDLIE}S:. (3)
a} System Software 1)  Operating System 1) Kaspersky
b) Application Software i) ~ Specific Purpose 2) WinZip
i)  Utility Software 3) Windows
iv) General purpose software | 4) Compiler
v) Language pfocesser 5) Payroll
16. Define the term, 'operating 16. 89qjeogler’ migge agm alemdiem
system'. List and explain the Mdcallenis.
major funcﬁ(?ns of operating 80aJ80glous MiigRETO (.16
system. (3) DalewonaBd ajees afludeas. (3)
17. List and explain any three 17. ogeomlege oym  @v-eaqy
e-waste disposal methods. (3)  Wdmodnm  20dn&BR 2086l
' aflcudlenyd. ~(3)
18. Explain the advantage and . 18. E-Governance msqflaiossmamy
~ challenges in  using O&:OMBIEs !EMEBgle EM@)EsaEt
e-Governance. (3) e eaigialdeale alldeans.
. | - @
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19.

20.

21.

22.

What is KSWAN? (2)

-Differentiate the terms, a web

browser and web browsing.

(3)

‘How is a WAN different from a

LAN? (3)

Consider the following devices

and categorize them according to
input, output and storage

devices.

a) Light pen

b) Fiatbed plotter
¢) Drum Plotter
d) Joystick -

e) OMR

f) RAM

g) Optical disk

h) Magnetic disk
i) MICR

i) Thermal Pri_ntef
k) USB flash drive
1) Three dimensional (3D)

printer

3)
OR

Write the function of the

following registers.
a) Accumulator
b) Instruction register

¢) Program counter

(3)
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a) Light pen
b) Flatbed plotter

_¢) Drum Plotter

d) Joystick

e) OMR -

) RAM

g) Optical disk

h) Magnetic disk
i) MICR

7)) Thermal Printer
k) USB flash drive

1) Three dimensional {(3D)
printer - s

| cnegelad
@oovaowym Register agios
S IBWINORFITYS.
a) Accumulator
b) Instruction. register

c) Program counter
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23. List any three major features of

24.

25.

26.

217.

an- electronic spread sheet.

What i1s sorting? How do you
sort a table of data based on a

column?

Compare raster and vector

graphics.

a) What do you mean by
hyperlink? How do you
insert hyperlinks in a slide?

- b) How can you insert an'image

Into a presentation?

Explain the steps to create an

animation in GIMP.

OR
Explain any five selection tools
available in GIMP.,

(3)

(3)

3)

(3)

(2)

-(5)

(5)
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24,

25.

26.
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